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{ii) The quese‘mﬂ paper consists q,if 31 guestions divided into four Sections — A, B, C and D.

(iii} Section — A contains 4 questions of I mark each. Section — B contains 6 questions of
2 marks each, Section — C contains 10 questions of 3 marks each and Section — D
contains 1T questions of 4 marks each.

(iv) Use of calculators is not permitted,

vy - A
SECTION - A

WA UE 1 G4 TR U US| S a |

Question numbers 1 to 4 carry 1 mark each.

1. L7 Wt o o w3t o 3R F 2003 gl w1 osle 9 oitw | dew & Rt w
I W0 30° § | AR S S e s ;

An observer, 1.7 m tall, is 20nf3 m away from a tower. The angle of elevation from the

eye of observer to the top of tower is 30°, Find the height of tower.

2. kafemamsfuak 11, 3k +3 795k - | U% AAET 49 S EOnE wwE

For what value of k will the consecutive terms 2k + 1, 3k + 3 and 5k— 1 form an AP, ¢

3. 20 fewe, B W1 H 20 T T feEt € arst wer o Toems S § T 9 © uw B
Arg=EAl il T | Wi W ity o e mE fewe w3 argan 7 % 1o a deEm
T

20 tickets, on which numbers 1 to 20 are written, are mixed thoroughly and then a
ticket is drawn at random out of them. Find the probability that the number on the

drawn ticket is a multiple of 3 or 7.

www/jsuniltutorial.weebly.com
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T 1
In Fig. 1, AOB is a diameter of a circle with centre O and AC is a tangent to the circle

at A. If £ZBOC = 130°, then find ZACO.
A

Fig. 1

HoE -
SECTION-B

T e 5 # 10 T Wl Ue 2 Seh A 5 |
Question numbers 5 to 10 carry 2 marks cach.

5. oft UE OEiaT S % WO m o4 o TE S 40§ m? : n? T IO £, & J9R 7 me e
A H(2m-1):(2n—1)H FIE |
If the ratio of sum of the first m and n terms of an A.P. is m? ; n, show that the ratio of
its m™ and n terms is (2m— 1) : (2n - 1).

6. Tag i i g (2, -2), (-2, 1) 591 (5, 2) O Sner gt & v § 1 30 Brger o g
of s =ifw |

Prove that the points (2, =2), (=2, 1) and (5, 2) are the vertices of a right angled
triangle. Also find the area of this triangle.

7. o e e it Rt fig (-3, k), FgEt (-5, —4) @ (-2, 3) % e awt s w®
fepnfomy M & 1 k =7 5 S 0 Shifeg
Find the ratio in which the point (-3, k) divides the line-segment joining the points
(=5, —4) and (-2, 3). Also find the value of k. Lwsisuiliton
jsuniltutorial.weebly.com
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In Fig. 2, from a point P, two tangents PT and PS are drawn to a circle with centre O
such that Z8SPT = 120°, Prove that OP = 2PS.

Fig. 2

9. P 3 W, 6 Jrit e 4 Aeh B 5 0 Fw A F FHEFT I E | AP 72 99 ) weRer
41 BP 812 9 %t TreiEn # | I AP - § St & o BP % wad e Sifew |

In fig. 3 are two concentric circles of radii 6 cm and 4 cm with centre O. If AP is a
tangent to the larger circle and BP to the smaller circle and length of AP is § cm, find
the length of BP.

1 1
Solve for x ; $-3 xi5"

Mi23 4
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Question numbers 11 to 20 carry 3 marks each.

11. vhawd ow o9d & foad Bt 9 a7 3o 9 & o s 97 S S 9o i e
T ¥ | Y A9 9% S AR 4 A e o o aiomy fie (st et e e s wt
TR UF) AT 9% F AT | T & B H wRS S miaw 3 B |

A game consist of tossing a one-rupee coin 3 times and noting the outcome each time.
Ramesh will win the game if all the tosses show the same result, (i.e. either all three
heads or all three tails) and loses the game otherwise. Find the probability that Ramesh
will lose the game.

12, R 4 1, v wvaE Bre OAB, Pt o 12 39t &, F 1 i O =i %% AR 6 i e
= T T T TR | S ST S e T S | (=314 TEnAf3 = 1.73 #fa0)

Find the area of shaded region in Fig. 4, where a circle of radius 6 cm has been drawn
with vertex O of an equilateral triangle OAB of side 12 em. {Use & = 3.14 and

J3=173)

Fig. 4
13, ﬁ'n“r.mwmﬁ,ﬁﬂﬁqﬂﬁﬁﬁwmﬁmmﬁﬁq

; 22
et o o T & | e e a7 R T o 7 [r= " ]
A hemispherical tank, of diameter 3 m, is fill of water. It is being emptied by a pipe at

the rate of 3% litre per second. How much time will it take to make the tank half empty ?

22
I:USE m="
www/jsuniltutorial.weebly.com
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A metal container, open from the top, is in the shape of a frustum of a cone of height

21 cm with radii of its lower an upper circular ends as 8 em and 20 cm respectively.

Find the cost of milk which can completely fill the container at the rate of T 35 per
77 -

litre. [Use = 7} @ L. | JSUNIL

et b |

15. ampie 5 #, 10 9t e Tt g, Fage 3 O &, %1 AB v 06 o & St S w0 00°
IV el Hielt & | 7Y T WT AQBP F1 £ wA Hifw | 377 4 gET ALBQA
gwel ot A BT | (= 3.14 =i

In fig. 5 is a chord AB of a circle, with centre O and radius 10 cm, that subtends a right
angle at the centre of the circle. Find the area of the minor segment AQBP. Hence find

the area of major segment ALBQA. (use = 3.14)

16. 12 WHI = aar 15 Gt S a1 U S 2 AT | T ¥ | s w10
] 7 UE WA HEHE i, Fed v ov adiien stifin &, stear & afy vismeer wm S
ST TS AR & AT B G 8w Y T w5 W W S |

A cylindrical tub, whose diameter is 12 cm and height 15 ¢m is full of ice-cream. The
whole ice-cream is to be divided into 10 children in equal ice-cream cones, with
conical base surmounted by hemispherical top. If the height of conical portion is twice
the diameter of base, find the diameter of conical part of ice-SFYRINULiLial weebly.com
307273 (/]



17.

18.

1%.

20,

21,

22,

o s {55 C (-1, 2), faget A (2, 5) 941 B(x, v) =i fier &1t temds =t 3 1 4 % STt
S | A §, ° o + 2 T A 1w | ;

If the point C (-1, 2) divides internally the lm&-segmem Emmg the points A (2, 5)and
B(x, ¥) in the ratio 3 ; 4, find the value of x + y*. = L

i T st % werg n W& w A S, S, TS, § | A wew @ AGd 9% 5§ A I
T FHoL wE 2, 4, T 6 8, ol Feg s S, + 8, =128

The sums of first n terms of three A.Ps’ are 8,, 5, and 8,. The first tetm of each is
5 and their common differences are 2, 4 and 6 respectively. Prove that 5, +5; = 25,.

x % T (a 7741 b & %9 W) § 0T

= b Jay e JSUNIL
x-b x-a b¥*ab (G Sk ./ TUTORIAL ;
Solve tor x (in terms of a and b) :

a —

=5y BXERD

wfiT & 4000 W, 1 I O IEaT U gaH e av U A agE & & S 1w
¥ 30 o % o g O ST argEel & I I S 60° 71 45° § 1 39 @ gl
At % e FEieT ol 7 s 1 (3 = 1.73 Fifm) .

An aeroplane, when flying at a height of 4000 m from the ground passes vertically
above another aeroplane at an instant when the sngles of elevation of the two planes
from the same point on the ground are 60° and 45° respectively. Find the vertical
distance between the aeroplanes at that instant. (Take \ﬁ =1.73)

His -4
SECTION-D
T HE 21 | 31 7 W N 4 HFHA |
Question numbers 21 to 31 carry 4 marks cach.

fog e Fr Reelt vy T & 7 oo Wit v el =6t et woE SR E

Prove that the lengths of tangents drawn from an external point to a circle are equal.

w6 1, 0 F= 9 79 B AB UF @& § 0w @A 16 ﬂﬁ%ﬂaﬁﬁﬁraﬂﬁm
10 9t & 1 A 1 B o a7 weiied g P o st § 1 PA I wEms T i
A
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-”iﬁ\'ﬁg, 6, AB is a chord of a circle, with centre O, such that AB = 16 cm and radius of
“zircle is 10 cm. Tangents at A and B intersect each other at P. Find the length of PA.
A ,
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: Fig. 6

’% ﬂ@?ﬁ,ﬁﬁwﬁaﬁﬁ#mwwm@ﬁmmwﬁlmmmw
T A a HEAT S WEET T AT & e gEd 9% gEE o $RT b W 5w ¢ 79 I 0

e ¢ Wt | iy T A AR AR T Seh 99w W et aa e A
Hﬁﬁmaﬁaﬂﬁqﬁm%}i%l

In fig. 7 is shown a disc on which a player spins an amow twice. The fmﬂnnn% is formed,

where *a’ is the number of sector on which arrow stops on the first spin and ‘D’ is the
number of the sector in which the armow stops on second spin. On each spin, each sector

has equal chance of selection by the arrow. Find the probability that the ﬂw:tiunih =3

Fig. 7
24, awshr 8 Yaifwe W o daww ww e sw APD, AQB, BRC wr £SD w
|4 A, 3.5 Selt, 7 2ol T 3.5 el o F e € |[n=27.—2ﬁn‘ﬁnﬂ
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Find the area of the shadgd‘l:egiun in Fig. 8, where ﬁﬁ?}{aﬁ, ARC and CSD are

22
semi-circles of diameter 14 em, 3.5 cm, 7 cm and 3.5 cm respectively. [Use = T]
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25. g o F uw o T v & forae S 30 ¥ ¥ AR ¥ T oF o g1 S Y
U S Yig we e A § | gl e T S W@ﬁﬁwﬂ%mﬁ il
T ifg 6 SR | fierT S W Bt wiE e T |

30 Feft

¥

‘-..__________.-/
T 9

In fig. 9 is shown a right circular cone of height 30 cm. A small cone is cut off from

ik
the top by a plane parallel to the base. If the volume of the small cone is 55 of the
volume of given cone, find at what height above the base is the section made.

L

30 em

Fig. 9 www/jsuniltutorial.weebly.com
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56, T AT H A v we w3 s o S wmevs @ i ) ofin < e g
e S R 9 TE & I 07 60° 7uT 30° § | WK i s o g S dFw
i T A W (3 = 1,732 wifm)

A vertical tower stands on a horizontal plane and is surmounted by a flagstaff of height
5 m. From 4 point on the ground the angles of clevation of the top and bottom of the
flagstafT are 60° and 30° respectively. Find the hf:ight of the tower and the distance of

the point from the tower. {take 43 = 1.732) JSUNIL
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37, Yo aer (12 W ) SO e w v e o e =g 6,500 THET FET
wEdt & | 5 el WG T 450 wen R e S A vee A 6 T 20 FirF Tl & | 9
12 et 5 e Faset ifer e O 2 s A aet o S Shl e S TR 7

= TET | T oY weieal & 7

Reshma wanted to save at least T 6,500 for sending her daughter to school next year (after
12 months). She saved ¥ 450 in the first month and raised her savings by ¥ 20 every next
month. How truch will she be able to save in next 12 months 7 Will she be able jo send
her daughter to the school next year ?

What value is reflected in this question ?

28, U GEEIT g wew R (vt 1 siew) et 8 A @ 6 Welt & 1 FRe uw a5 e
5] & L i 1 3
& T ST P e TEe Feg S E e W |
Drraw a right triangle in which the sides (other than hypotenuse) are of length 8 cm and

3 . .
& cm. Then construct another triangle whose sides are 7 times the sides of first

triangle.

90, = R & T THEY U e 0 He 36 e F W W § | T =T JIe T e 9
T = =g 9 T © & e ued o E | Tt e BT AT A YA % W i
AT |

Two water taps together can fill a tank in 9 hours 36 minutes. The tap of larger
diameter takes 8 hours less than the smaller one to fill the tank separately. Find the
time in which each tap can separately fill the tank.

30/2/3 10
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). 3% o ABCD W1 S T i forads ot & ﬁém%g{—l 2), B(5, 4), C(7, -6)
D=5, —4) F | |

Find the area of a quadrilateral ABCD, the co-ordinates of whose vertices are A(—3, 2),
B(5, 4), C(7, -6) and D(--5, —4).

1. ﬁhﬂﬂﬂ'aﬂ#m%wﬁxmﬁﬁfiﬂﬁﬁqmm%ﬁqﬂﬁﬂ%tﬁ
T T =i | |

The denominator of a fraction is one more than twice ils numerator. If the sum of the

; : . 1B
fraction and its reciprocal is 22—1 find the fraction.
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